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;1) Ze 24 Assuming the received signal is Rayleigh faded, the average fade duration (equation 2.1 {u the text)

and the maximum Doppler frequency are given by, respectively,

. e =1 y eF =1
t= ———— = Jm == ol
pfm\/?.?:rr Ae tpv 2w
For f, = 900 MHz, ), = ¢/f. = $1% = 0.33 m. Then, for p = —10 dB (
vehicle speed v = 442 m/s. Hence, mobile goes 772m in 10 s.
At rms tareshold level p = R/Rrms=1. The level crossing rate is given by (equation2« it in the text)

; ?andt- 1 ms, the

o —g
Lp = V27 fmpe”

Then, the level crossing rate at rms level is Lr .o =95%/5" Hence the received signal experiences
10- Lpppyg = g51fades below the rms threshold level during 10 s interval.
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